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Read the Jollowing instructions carefully before you answer the questions.

(1) This question paper contains two sections. In Section I there are 1 to 25 questions of Third

Language and in Section II there are 26 to 75 questions of Intelligence Test, All 75 questions
_are compulsory.

(2)  All questions carry 2 marks each. SEAL 5

(3)  Time limit to solve the question paper is 90 minutes.

(4)  Separate answer sheet is given to record the answers. Each question has been given four alternatives.
Read them carefully. Select and shade the correct answer in the answer sheet.

Example :- If the correct alternative for Q. No. 6 is 2, then record your answer as follows :
Question No. 6 - @.@@

(3)  Answer recorded in any other form will not be considered. Such answer will be credited with
'‘Zero' mark.

(6)  Use blue or black ball pen to darken the circle. Circles darkened by .pencil will not be credited.

(7)  If more than one circles are darkened or overwriting is done, the answer will not be accepted.

(8) Answer once recorded can not be changed. — ‘

(9) The rough work is to be done in the space given under each page or on the last page of the
question paper. :

(10) The exam has limited time, in case you are not able to solve a question, kindly solve the next
question. In the end if time permits you can try to solve the unsolved questions.

(11) If you find any question incomplete or with error, then do not ask anything to the Supervisor or
Centre Incharge.

(12) For any error / mistake / objection issues. school or parents should not send written application
to Block Education Officer or Education Officer. These error / mistake / objection issues should
be register online through respective school login only.

(13) The error / mistake / objection issues should be register online within 10 - days from the
publication of Interim answer key on MSCE website.

(14) Suggetion & decision of expert committee will be applicable on printing or any other mistake in
question paper.
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1, SAraEE JEadshl HeIfauE S ?
(1) St feaelt Seiwgd I AOCE HEd A
(2) SURRHEE SV JFET
(3) &9 HOT B SSHHAA 5l
(4) SE ToIE Sefauft FOSW T e,

2. YRedE wivEl e SeieEen w2
(1) 1 feaeht Sein iEE damdien o
(2) Jcrem wEEl EiRR go e
(3) S UG Wl A
(4) dellea A YRS BT e

3. HIvE SISWR JAFAW e 3Te? .
(1) FUHE (2) aEaA (3) e (4) dermet
SPACE FOR ROUGH WORK

W 4 ¥ 6 WA Y- Wi gETE A Res] d AR e fasmee

4, R TRR F A ccoverrerrnn. B TR HIL
(1) fago @ (2) fags (3) ar=a W e (4) faemef A

(2) 4 SEEEE wE
(4) HIEM g FAH SR

(1) = gHe F=5a Fad
(3) Sl TeERY AHEHT

6, A Wad AN UEH .oovereeeernn B
(1) s (2) Faagoresi (3) IGARYE (4) Tl

7. ‘Iqun’ @ vl wEEE U fesl
(1) YR (2) gau (3) (4) =&fid
8. oo amane sifad s faegmdl o= fast
wanyd g Afear qEuEEEl e S ST
(1) w&w (2) fe=am (3) We (4) FuER
9, garEl W€l fEeL
(1) UaeE-TEEeRe
(3) TMA-HSHSR

(2) AEE-SI8ARE
(4) dEEI-HEHSRE
10, fooien T=wgEEsEd & 1= fEs
‘o W deRaer’
(1) Fomg (2) Yo (3) a9E (4) difoim
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ﬁ—v L Amvw.ﬂ mwuﬂﬂ._ Aau
(1) =2 (2) 7B (3) T @
1. %ﬁaﬁﬁuﬂﬂ%ﬂm@ﬂaﬂsaﬁﬁﬁrmﬂ
L. i () e B () e e
M_ﬂ_ﬂw (3) W W& A (4) WA S

16.

17.

A TRY aE wn’ @ s wu FEeL

Qsﬂsﬂnﬁmﬂﬁw

(1) Egr=A FUE T
(4) e E R VEFEAD FI AR

(3) TEERN R 99 ®E
feden A enifEa vl Y el

e AR WA SHH 4 dedl :

(1) & (2) ®KE (3) W (4) ug=

ot B YRR HIR e SigA 4 Sieve 9aR g eT?
(1) oS8 (2) om (3) &= (4) T

ﬂ.ﬂ.m.ﬁﬁﬁaﬂﬁgﬁz%ﬁnﬁaﬂ_&mﬁwﬂwﬂsﬂ_
FHiEE e Yaeard ‘g’ W Yl UK WAR .
(1) 38 9 D (2) ™ 3 i
(3) 99 a gw . (4) =9 7 fawy
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18, @icfte wataiqn Am aEeen gaia” FESl

(1) sien (2) @@= (3) wrEe (4) ifgen
9. '‘mawell Fell i &

wO aive nh afe. a1 7 TR fRAUR I 3

(1) et (2) TR (3) Wit ,E%
20, Rdem Wi Aqewan Twee weR el .

(1) ¥ (2) dRm (3) & (4) afeim
21, Fafy=ao et 91 faeL

(1) wdn (2) I (3) B (4) eft

22, EERe FUE e Y9 TR aa?
(1) T8, S T e g e (2) TR it T s
(3) et o1 g @M (4) TRV, AN UHA HE =A™

23, ydelwl o = fEs

(1) S9N (2) IR (3) TEiaTe (4) TEfauE
24, ‘arEEEl’ YR HOTCN SpER W2 .
(1) fa=n famasst (2) FWIRT HIE IFA
(3) Haw AN A (4) 1.5 AETEER
25, gH e fEel _
(1) <F-TEaEa (2) EEE-TE
(3) SrEv-ATTEEE (4) smuE-gedfeim
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INTELLIGENCE TEST

26. In the word *ADJECTIVE’ which letter is third to the left of the middle positiop

letter ?
(L) D (2) J
3) v @ 1

27.lABCDE FGHIJ KLMNO PQRST UVWXY |

In the given letters series, what is the position of the letter from start which is
fourth to the left of the letter which is tenth from the right side of the series,

) 19 2 12
(3) 20 @ 6 .

28. How many total vowels are there in the given sentence ?
‘Rupa gave letter to Ram.’
(n s (2) 3
(3) 8 @ 9

29(3.2.7.1. 0,5 6.6.4.3.6 1,73 32 |

In the given number series, what is the difference between the square of the
number which is 6th from left and which is 7th from right side ?

(1) 34 @0 (3) 8 4) 16

SPACE FOR ROUGH WORK

0502 / English Set-A 6ot 16 P.T.O.

|ABCDE| FGH1J [KLMNO | PQRST [ UVWXY |
Note for : Q. 30 to Q. 34 : [Find odd man out]

30. (1) Puppet show  (2) Television (3) Computer (4) Cinema
31. (1) May (2) July (3) June (4) August
32. (1) 2651 (2) 2246 (3) 5324 (4) 6215
33. (1) 9338 ) 7276 (3) 9295 @) 4279

34,

oD
O

35. In the given number series, select the correct option to replace the question

mark,
3, 4,17, 10, 15, 22, 31, ?
(1) 46 (2) 40 (3) 44 (4) 42

36. In the given series of figures, select the correct option to replace the question .

mark.

. .._w
b

) 2 (3) (4)

SPACE FOR ROUGH WORK
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. Anushka's score of marks i is more than Aarya but less than Aaboli. Shevanti's
score is same as Aarya but 10 more than Chameli. Who has scored the highest

37. Select the wrong term in the given number seri¢

2, 7, 28, 64, 126, 215 @ 7 marks ?
(1) 28 (2) 64 (3) 215 (1) Aa :
; Ao (2) Aaboli
38. Select the correct option to replace the question mark in the given number (3) Shevanti Ty e i
senes. s
14, 16, 19, 24, 31, 42, 55 43. Akshay said to Aanj ‘your mother's father is my father's father.” What is the
(1) 65 )72 @3 75 ) 74 relation of Akshay with Aarti's mother ?
. i S of (1) Son of husband's brother (2) Uncle
- m.ﬁann the correct option to replace the question mark in the ghver &0t b (3) Grandson (4) Son of husband's sister
signs.

i
<>+X+, >Hx4g +xX+<> XESFE . :
. 44, How many total number of triangles are there in the adjacent figure ?

(1) <>+ x + (2) +x+<>

3) +xX<>+ 4) +<>+X

40. If Deer is called as Rabbit, Rabbit is called as Shekaroo. Shekaroo is called as
Porcupise, Porcupise is called as Tiger, Tiger is called as Bear then which / N\
- . . Q . ;
animal is the state animal ? : (1) 14 ; Q 15 (3) 10 4 12

]

; : J 45. In the figure given below how many total number of azmam_mﬁnam are. _..:m_.n b SN ]
(3) Rabbit (4) Porcupise : S T et

(1) Shekaroo (2) Tiger

41. The sum of ages of Mother, Father and Son three years ago was 73. What will . - : : : R
be the sum of their ages five years later ? Haie it

(1 97 )75 (3) 78 (@) 88 : k% )9 - @6 : (3) 18 vy @ 15

SPACE FOR ROUGH WORK : e SPACE FOR ROUGH WORK
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: Select the correct option 10 match the mirror image

Note for Q. 46 and Q. 47
of the question figure.

46. Question Figure

SR

Answer Figure

g2 mﬁﬁm\m\,@ld

(1) 3 @)

£

47. Question Figure Answer Figure

Hed @@

(1) (2) a3 (4)

Note for Q. 48 and Q. 49 : Select the correct option to match the walter image
of the question figure.

48. Question Figure Answer Figure

P A
M W _ua i(é WM z<
A b b b
—TrrrTYIT— .
(1) 2) (3) )

49. Question Figure Answer Figure

OBV E

(1) (4)

SPACE FOR ROUGH WORK

0502 / English Set-A 100of 16
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Note for Q. 50 o Q, 54 . There exists
similar rel

a relation between first and second term,

ation holds true for third and fourth term. Accordingly select the correct
option 1o replace the question mark

50. Crops : farm : | fryjs 19
(1) Orchard (2) Market
Auv Mall T.: w:C—J
51. Sparrow : noun : : went i 2
(1) Pronoun (2) Verb

(3) Noun (4) Adjective

(1) (2) (3) )

53, 5:12::6:7
(1) 18 ) 15
3 12 @ 21
54, 4396 : 6475 : ; 3485 : ? ‘
(1) 4595 (2) 4574
(3) 5564 (4) 4564

SPACE FOR ROUGIl WORK
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55. Which of the following action of Raju is correct, when he saw garbage lying
at the place where small children were playing ?

(1) He picked up the garbage and threw it into the dustbin.

(2) He ncglected it.

(3) He pushed out all the children from that place.

(4) He purposely tell the security person to pick up the garbage.

Note for Q. 56 and Q. 57 : mmucnﬂ.:ﬁ figure perfectly matching to the question
figure from the given options.

56. Question Figure Answer Figure

(1) () 3 @

57. Question Figure Answer Figure

(1) (2) 3 @

58. In a row there are 15 girls to the right side of Savita and 11 girls to her left,
if she is standing at the middle then what is her position number ?

(I) 12th (2) 13th (3) 14th 4) 15th
59. Students are standing for mass P.T. The number of rows and students in one

row is same, If 15 students are standing in each row then what is the total
number of students standing for mass P.T.?

(1) 225 (2) 150 (3) 250 (4) 125

SPACE FOR ROUGH WORK

0502/ English Set-A 120f 16 P.T.O.
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60. John is standing wiih his b
times at right

(1) West

ck towards the East. He turns to his right hand two
angle. Which direction is he facing now ?

(2) South (3) East (4) North

61. Ahmed went 1§ ki in the west direction, then he went 11.5 km to the south,
then he went 6,5 kpy, to the east, then he went 11.5 km to the north and he
stopped there, A¢ Wwhat distance is he from the starting point ?

(1) 11 km (2) 105 r.E, (3) 12.5 km ) 11.5 km

62. Mandar was born on 7th July 2007 Saturday. Which day will it be on his
second birthday ?

(1) Monday (2) Tuesday (3) Wednesday (4) Thursday

63. In a certain year if 15th August falls on Monday, then in the same year 6th
September will fall on which day ?

(1) Thursday (2) Monday (3) Tuesday (4) Wednesday

64

Observe the venn diagram carefully and answer the following questions.

Which of the following number is seen only in the triangle ?

5

(n 7 (2)6 (3) 5 4) 4

SPACE FOR ROVGH WORK
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65. Identify the correct option to replace the question mark in the given pattern, | 71 In a certain coge language iy

i

w

|

{

|

(1) 42 (3 1
? 2) 32

KLMNO [ PQRST | UVWXY]
62 = 14, 47 = 15, 95 = 23 then 38 =
@) 14 _ (3) 36 4) 8

. In a certaj
4 3) 12 | P b o T code language if 6 - 14 7 = 17 and 3=5then4 =2
) 22 H )6 3) 2 @ 8
Note for Q. 66 to Q. 70 : The term given in each question have same common l 73. In a certain noao language i CAP = OO®, CAT = O®G, PAN = A0O
characteristic Select the correct option to match the group. then TAN = ' .
66. Iron, bricks, sand, “ () Dae (2) omEo 3) ®& AG @ AO0G®
|
(I) Cotton (2) Coal (3) Thread (4) Cement m
g 74. In a certain ocam lan
. guage if KMD = , KNM = A > <, NKD = >
67. Brain, Lungs, Heart then MND = € 2 v KNM = e
(1) Skin (2) Ears (3) Stomach (4) Eyes : Lo T gmam and .—_Emgz may not be in the same order.]
. _ : (D Av> §
68. : (2) A<>
CEN DY A9 | @ Aavs< @ ><v

Nt A R )

h' .p .' .. : : : 75. Teacher appeals to all students that as the yearly inspection mw.zmmw all have 8
“ “ ‘q a‘ . complete their assignment note books, Your assignment note book is completed.

1) ) 3) (4) iy but you know that, one slow learner student of class has not noan_nﬁn_ his’
: assignment note book, what will you do ? i :

69. 65, 83, 92 (1) T will tell my bench partner to give his .»mm_m._ami note ccow 5 :Eﬁ m_oﬁ.‘

learner,

(1) 54 (2) 87 (3) 47 (4) 39 el el AT R A il
(2) T will help him to complete his assignment note book, ;

70. 2520, 6273, 7092 : : ) Ry
3) 1 ,.E__ not give my mwmmmaaws_ note book to any one. BTy

(1) 8085 < (2)2823 (3) 6018 (4) 8127 @) 1 will tell the teacher that he misplaces the note books.
SPACE FOR ROUGH WORK . SPACE FOR ROUGH WORK
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